Which of the follewing doss not match:
@y Beoibel: enic of the: of ssond

(B Horse pows unit 9f The power

G .:'F'-a'.'l'_L':aj. m rrunit of the 'discepps
el calsiius: unlt of EnE jwat

"If a body be in rest or motion and continves to mainksin its position until
an external Force operates it iz likely to change its stake”, is Fha atatement
= F

(Al femcon's Ist -kaw of motion

EE)  flewboms’s 2nd-Iawsef mocion

] Mewton"#s Ird-law of metion

By, dmmiikeols’ taw of matbon

If tha temperature of tha water be lewered from 97 Clte 37 € then in the volise
of the water:

(Al Ho-change Wwill cake place

(B) Firpgt it will lperesse and Iater 1t Wil decrease

(€) First it will decreace and Ister fr will |#Hccessa

(Rd] Watsr would Eroezne

A piece of ice ds floatlng on the susface of the water kept inside the boskes.
If this piece melts, then the level of the water in the beaker:

LR Wiuld Increase -

1Bl Ropld decrascs

il Wonld be tha aams

(B Wonldidlrstly increase,. then it would decreass

At higher altitudes, the water boils at the tecperature lower than 100% ¢ hocauss
[A]) ue oo leager ablmpsgheric .pressu:.i “the briling .'F"'-"é::'t of thévatar bowsts
1By The giavitztional pull s lesser hare:

12 The windion' the Fomntsicg:are srarmy

1o Mons af these

At what temperature the indicator of Celalus and Pahrenheit thermometers would
indicate tha sams reading?

(B =iann
i e

(£} s
o

1) LR
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4 healthy man has a body temperature:

&y Z7 "
{B]. F7t.g”
{C). eE &%=
(D), 9e 4

E;gagnnins-a:-_&n-d inmg

(&) Spage JORENEY, ENroical works And msacs I I=sonance

{8} Surgical dworks) magnecic Teaonalice 8nd remore sensing
L) Space Joucmay, SUIALCal wnrks andg. ¢ t& Spnsing

10 Space fouraay; =magnetic recopance =Tt RS Atnsing

The steam iz more painful than boiled wWater because:

B} In the Steam thers =xigrs latont heae =3 Vaporizazion
[H) - The: steam penst-atss ingide tha by

12t The sranm Fas mare Stlacklng power.

[T The steas 12 Tighe

When throwgh a compact disc (8D0), the sunlighe ig geoan, then a cembination

coleuss like rainbow appesrs, Thiz can bo exnlained as:

tAl Te pecihos.due to fha Dptical refssciss =na AL ST PRty

LB LE octuesdue to The- optical refisccies 4fd ‘refrhctian
1

il TOBEdurs dye to tha BRtical diffractics zad refraction
By It ofebrs dos te Thz optiegal tellection,  Fofiwcting and diffrastion

Consider the statements-

L. All elactromagnetic radiation travels sr the spaed of light
2. The epead of light is Appraximately 300,000,000 m/s in waocas
Ay Oelyl iz carrepce

8} Onlye2 ist bAFrent

(€]  Bith-are correct

{8 Bothara lhoorract

The Saa looks 1like bBlue, besause of;

A Larger depth

(B} The seflecting. af Light and scattesi-o
fCF The hlie calonr of the WATET

(L) The uppermpas Layer of the water

The air bubble in tha wWater acts like a-:
A} Convex mirrar

(Bl Convex lmns

ICh, Concave mifras

2] ddncave laps

The zltarnating currvent a2} 12 transformed ines direct corrent (de) by -
(A) Dvoams

1B} Transformer

(] Becillisr

(D} Motor

In the eloctrical wizing, a wira is made grounded or earthad bocause:

18}  Diring the sousTence: of short circuir the CUTTent goes to the gradnd
(B} The-eléccric péwer dossn’t wagte: in i

T} He electric airoutf ie compipted

(0] The electric Ductustisn 15 removad

of
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Two most pepular semicopductors which dre frequently utilised in snlid scats

potential difference of the two snds of the electric comductor is propor:
ticnal to the electric current passad through the conductor. le the: s tatement of

faulombs?s law
Faraday’s lay
Gausats law
chm'a Law

unit electricity is the amount:

Bguivalant to a D00 watt DulbeDerng oF ka 20 nours
Squivalent to 5 1000 Wett -bulbibucns up to 1) hens=s
Ery of Lhe aboire

Hone a@f there

Eransfoomet Ls an electrical devies which converts/regulates:
AE ot - D

A wultdgge un or down

OE-into af

Eleckrical snargy Into Che Bochanlos. Sreioy

use of thermostat is:

T messure che Camperpbore

To ipdreases LHa CAmpecalare

To make this CEmperature TamaincSobt
Te, foovert the tomoeratire inte The =1

o

ctricity

the igobaric and isechoric tha:uq&ynnmigq; PEOCAFIRE
Flosguro and volgme remain constant
volume: and oressurs cemain Eonstant
Presdures and tesperature cedaln CERETAnT
Hene of Chess

the adiabatic process, which of the following ramains constanti
Hea '
Enb rapy
Gath of thsese
Hone of Lhede

elactronic devices are:

EA
£
ikl

sarmanins and S5ilicon
Garmanivm-and Cprban
Levdrl-and Carbon

of-These

)

The: basic nanpgaitiﬁn of miceo processors and computers are based npon:

(EN
(8]
[ |
{3}

Tha deviee anﬁluyﬁd to measure the diamaters of

Gigiral, It Elactromics

Logic gircuits only

glattrapics Bagsd upon- #on-Boolesn Alogabrs
tone. of thess

=

way) ig called:

i
{B1
18
(4]

Tholometes
Barometiaer
Viscomaley

InEsrfelomater

the star and our galaxy {milky
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The sky appears black on the moon because.

&) Lack of athicsphers

[B) ‘Lack oF gloud

{C1 Lagk of oxvgen 2aod sarbon droxids
(D) Wore of Clisds

The astronaut who landed or stepped douwn frzt on the sarface

LRl Hall Brmsbronsg
(B Uri Garin

{}  Benial Fadrel
{0)  HWone of these

The penstrating power af which of the Zallew:

from the nucleus has its saxipum wvalue:

thl  Eegays
(Bl [-rays
i) L T
(B} Kone T thess

of moan was!

ng imvisible radiations emitting

The Isotepe of any atomic nusleus is in which;
£ protams he differant

(&)  Humber of nauirans. be same bt m T
1B]  MHumber of procons be same but the

(G cNumber of protons, ahd neiirans hooh

{TF  Nuomler df probons and: Seutssns Doob see

The grovp displscamant law im Propounded

(A ‘Age of the human belrs
1Bl .Age-of the fosasls

(€] Dizeaze of the human body
PB). Purity 6T the motkis

L,

“EneutTong be differsnt

e =556
tifferant

The hydrogen burning process is directly s=socisted with:

(&)

Hydrolysis

[B)  PRedugtion

G Owidation

{0l Hydrogeaation

In the galvanic caell.

{8} Transformacion of tha shertricsl i enmry
(B} Fransformation of the chemie=] ard

€] Trangformatian of light mnetgy icta th
1By Transformatidn of miscorisal enErgy 1
In the sndothermic reactian-

[&)  Heat i= abgorbed

1B} Heat iz ewvolved

(0} - Heat dossn’t chamge

(D)  Temparatite remains Sonstant

I the contest of an alternative dource of sne

san be cbtained frem which of the follawing?

[AY -Betabg

Bl - Paddy

{1} Sugarcans
(D), Wheat

tha process that rtakes place ia:

he-chemical ansrgy
2lectyical ennrgy
Igal ensrgy
Light: Ensrgy

Y, = prastical bis-foel ethansl
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Ihe anti-knocking propecties of any fuel exhibit;
Al -.:uvl.-A!'a!- GLmE s

=11 flatiral number

() Ooctane
|3 Hach' rmismbes

Which of the fellowing stateaments is true regarding Aluminiim:

(&) ARluminium-hydraxids &5 amphotesic freopatoze

[B) A&lumintom

(o) Mitric es

(01 Hot and ot
relasgad

=t s ih the fras C
dfes - ol -re3ct witn Slwminium
et rated H 5D ceachE: Wi bl ek I wWhich S0, Jas L&

Tha annlnt har\dneaa D! watar appears dus to the;

LA Carhonat and Mognentam
vl arhon - EE

() Shlarides 2nd: BElphase of CaIlrim
t0)  Wope ok

Which ﬁf Ehe fqllnuing gas iz ntilised to H11 up the ballaon, epecially when
weather relasted predictiesn and reporting Lz to be done:

@y & =5 T

[Ch O5: 1oy He

The gases employed for the respiratory activities of saileora {divers) are;

[ Sovgenand NitTogen
(B8] CEygen and Heliom
(Tl Omyoaen add-Argon

)y Ceepgen-and Heon

Whish of the following substance ieg utilised in the form of solder in the sol-
dering process of electronice?

(] Alumintum and I£an0

(Bl Liged &nd Tt

(£ Aluninium and Lead

] Ieon, and Tin

The process of t:anafgzmat;gn of the complex higher hydrocarbons of less wola-
tile and high hniling point lﬂtD the simplers hgﬂ:nnu:hana of less boiling point
i called;

=l
(¥H ]
(483

In heavy vehicles, diesel is used as fusl bacauss:

A Ifigives more miissge-ang g safa for the shoine
=1 it ames high-voloage: soerk

() It hasz hilgh powsr and =conomic shviags

Pin]] Te-Ls l.'|":~'76|:'-{"|' o comparlacn €4 pabrod

An explosion secdre in the mines throwgh:
(&} The mistire of sitrogen with oxygen
(39| Thoe mixture of acetylans WlTh OXyOen
e} Themixture of sir with methanpe

(4] ] The mixture of O with sthans
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In order to lewer the tesperature below 0°c, the substance mixed with ige ig:

Rl Eedium:cacbonate
(5= Sodiur s ellorics
(] Hagnesium

(k) Lime

In the hooch tragedy (casuality sccurring due to the wine poiscning), sometimes

blindnesa occurs due to the poisoncus substanoe:
5 Ethyl aleokol

(Bl ‘Methyl aloshol

(Tl Al alzohel

[0y BenmaEyl Elcalol

A ractifiad spixit is:

(& The mixtura-of ethyl aleohal and mackel 2ies
{5} Purified ethvl slechol

{C)  The-ethwl aleahcd smployed as Suel

(D1 35,57% ethyl aleohal and. 4,430 wares

The mixture of antifreezer substances sre used in the radiators especially in

the autemobiles of cold countries, this =ixturs has:
IR} Water and ethyl slcohol

By Water and glycerol

2t Wamer and ethylens glysal

40 Bene of these

The Vinegar is the selution of:

(A} 5% apetic acid solurisn in water

(B 25% acetic acid salutilsh in waker

[C)  50% acetic acid:osolution ln waters

1y 40% aceric acid zolution in wates

Sodium bicarbonate is useful as a fire nin:nguiuh-r bacausze|
(Rl IC decompesss on heating o give OO0 . which-e¥tinawizhas

[4=3] IC serves as & blanket for the fe
({i] It roaleases HO bhiok extinguizhes the fife
(B) “Et emits @ foam which extinguishes the fire

Whieh of the following in chrenelegical ozder of the density of the various

substances la true 7

fht -Eteal > meroory » gold
(LY Gold > marcgiiry > gteel
Iil:_l Ekael »>-goid i@ FRECUY
(D)  Gold > stesl > gemrcury

Which of tha following would exhibit uzeful working correlation between fungd

and roots of the higher plants:
IR Bio-fertiliiers

16} Coreloid zoon

¢ Lichen

0} myoorrhiza

Considar the Follewing:
(a) Camphos
[B} -cChicory
<y Vaniila

The [l
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in the abowve which of the following isfare Plant Product?

(A Cnly 1 andZ
=) only 3

{C) only land 3
(o) 1, 2 and 3

Which of the fellowing pairs is wrong:
[&F Coenbzel raot - onion

%) Fusifoim: zoodt — radish

|2} HWapiform Topt — turnip

ITeh Fneumatophores — mangrcote plant

If in the bisexual flower rocium and gynoecium’ s develsop in adult forms at the

differsnt time, then the process is called:
1A] IS EmY
18] Hay :\:ll:_fl_-'-:.[,'
] STnagamy
I Monogamy

Tho Shres of the cotbon are:

The fibre extracted and drawn from
The gemi-skinned soft root of the
The semi-skined scit root of the
{51 The bbre mxbEractsd and Heawn’ from oot

Which of the fellowing crops supply the surplus nitrogen te the soil:
[A) Potato

IR} Bweet potato

(o] Luk Hower

(i) Baa

Which of the following wvitamins is proncunced by the name of riboflavin:
15 Yitasin B
184 Witaein B2
|Gy Vitasdin Bo
Dy Vizamin BIZ

Which of the following hormones of the human bedy regulate the blood caleium

and phosphate?

V&)  Glocogan

\B!  Growth harmone

{1 Parathyroid hocmone
{0} Thyroxine

The most photosynthetic agtivities ocour in the:
(A} -8ad and -blos -acea of the light

{8] Groeen and ywellow area of the-light

(2] bBlu= and orapge aras of the lighto

{0l  Viclet and crange ares of the light

Fhytotren is a facility, through which:

LAl FlAnts ‘mce grown-up in the dizedge<less cirCumstances

(B] Spesies of the exbtinct wlants are aonserved

(2] Elantas begoms ‘avallabls te'grov up in the dontrolled cenditions
(B] Mutationg (is-affected



E0. The water pollution in ‘the rivers are measured by:
(A} The amsunt of &i ed il ing
{Bl The-amgpimt o
5 The. ampunt of Sigeglved nitzhgen
(D1 The amount of dizsolved oxygen

6l.. The bic organism used to prévent the:water pollutbsn spresd through the: indus-
trial fowing waste substances is:
(45} Par bierdom

1B] grass
il C Fiant
{ I (&l -a (H)

62. Which of the fallowing pair is not correck::
L J-_:-gh:_upl‘_ Lister — rencdial medAsucss R~ -
=5 Johr Bl -Shalk =fapel oepiet{isl of faesfall
|Gy BRlexander Fleslidg the Anvencl
{ Mon=4f Elssgs

63, Which of the Ffollowing is nok the pesidus]l hussn SEGAnE:
(=% Hecateting sErasn
|BY | Bafg dAevm muzcles of (Ehe - Lympan: oo rSmosan
|2y Fars-flazcened zseth
|0y Appendis

64. Tha instinet pacts (apgans) of the reptiles-are-explained cn the baszis. of theory
of gvoluticn as which of the following:
(-0 Eorn-the usoes and nen wse of the Srozas
[B) Erom she adapbatbon to/ dwsll dnlfusmsl
({5} From the patural =elsction
(B From che heredity of appearad charsoisrs

£5. The fishes are assumed bo be healthy and more nourishable with comparison to tha
angther animalx flesh; because in the fish
(3] Thereldziats mulcd aRssturaced foid
18} There exlsts saturated fatrty =cia
(C} Theve exists necsssaey witasling
(6} There exiirs mire carbohydrate sndiprotair

66, A p'.a;_:mlu_r windowing Environment, windows — 3 was ipntroduced in

(&) 1885
{E) - 2000
{7y TH85

{ Dy 1930

57, The guper computers Deep Blue and Blue Gene are deweloped and fabricated by:
(R} IBM Cou USA
By Cambrifge University UH
(€5 HARD, Mumozi
0 None &6f these

€3. The main componsnt in the fifth generaticn computer is!
(A) Integrsted cilrdoit C([R)
(B) | Zavgely Tnvegrated
10l fotical fiber
(D1 Mope £f thess

-




89,

T

7L,

TZ.

T35

T4.

75

76,

b

The Central Processing Unit ([CPU] which s called the brain of the computer; is

sometimas alss called
1) Hicro Processor
(B] Processser

(C) Himl Processor

(B Mini Compobter

The food and mouth diseasas in the-animals cccors due o
[F=%) Oasparia

B Fungl
|G Protozoa
[T Wirus

The Name of Sargasszo =ea appeared dust o

1Kl Fandd
{B] fngiosparm
1C] Alnae

itl  Byrophyta

Digestion process do not invalve
iR Ingestion

(B) Tlgestion

[CY)  Adsorptian

[0 ABssimilacion

Silk fObers are made of
(&} Frobein

1B} Vitaminp

{Z} HMinerals

O] gEall

Excretory system of buman consist of
(Rl  Two kidneys

Bl Ewe Urmthras

[} Drinaey - BLadder and Ursthrs

(B} Rll of above

Recid rain mainly contains

|A]  Hyirechiscic acid

{5 Carion mand onide

Carbon dioside

Bitric and Balphurie acid

. [

Cl
&
Centre for eellulsr and molesular biclogy is locabed in
tAl o Cheanal

(Bl Hydesrabad

)  Mumbai

D) Daiki

‘Drolaryngelogist ig speclalist who treats

(AY —Hearc

B Lupgs

IE.jII Bose, throat 204 asrc
M} fons'of the abowe
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Ta

Bl

g2

63

24

BS

BE

Stu.d;r..ul:".t_i.-aua' of living body ia called
izy. “Biveiy
|} RigTopay
12l . Sssriftegy
| Exb—bagl oy

KWorld talmu_:jmu.ui_cit_ipn day is cbserved on
(1 O Al A

LN 19
I 15

LEa ) !

Giard cells are found in

(Al Sfbesats
k] | Sircles
10 daooules
(1A UmEvias

Buminartion is' 2 process of digestion in
thi o flmes eaping snizals [
B AT ':.‘:E-i:'.-q'.g

Lok i

Ant sting consist of which doid

(Bt hesEic agid
L X i L aedd
{11 Lagtic 4cid
{0 CGxalic g

Colloidal solurion iz a types of mixtire

F S ehEhE T LA

(3] -Hetroganoue

{0 Pertially fiomogenses’ ang paEriilly he-rodencus
8 ohens of the above ' 3

Seleot tha Sorrect atatements

[A] ‘Mamd=ls are warm Blcoded animagls with four chambat-liears

fhy Awes ioid blogded antmale with- 4. chrskar heart
! Fepriles warn blodded animals
A= rigcer Sresath Shiopugh langs

T 'n'k:u.!ﬁg of otars is due to
(%) Heiewtion

[df . Aptraction

iCh CAd=arpricn

) Hiadersinn

Tyndail ‘effect iz dus te

(A Soatbering et lighit-dos te coliordsiypatrciciea
|4 Eatlmot ton of Light

1G4 Felzaetion of light

(T Dispefaien & ight
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Two modes of reproduction in plants
Al Gexual and asexbal

(B} Aséxusl only

(C) Bexual oply

(7Y  BisEmuzl

S-:aud.ur_*.r calls are

| R} Which can be :e-.’:r!.n:gee
1B) vVeltalc cell

Gk Dry cell

{0} Mone . of the showe

The erget is extracted through:
VAl Bizhobium

4y Cellreisehes
2) Phytdmonas
(@ Blbuegs

¥Which of the following is edible fungi:
L&) HETaT

1B} cillieam

€Y HAoaricds

10y Rizopus

L 8 D 18 obtalned through:
{al Bacteria

4=y} fungl

(£ ] £,4=D

i alechal

Which of the following pairs is NOT corcrectly matched?
(%] Chlaoraform— Harrison

| B3 Germ Thedry-Liiols Pamteyc

15d  Blood Transfusidn= Jogeph Listor

1Bt Bagteria- Llesuwenhosak

James

Congidar the following statements;

L A person Jumping cut of a moving train iz carried ferward in the direction
of the train dua to the Newton"s Firstc law of motion,

2 Recoil of a gun, Motion of rocket & Swimming are all the examples of New-
ton's Bacond law of motion.

Which of the above statements isfare correct?

1Al Gnly-is8 1 correct

(H} | 53 are oorrect
IEY - GrdieZ S thrmect
o L& 2 are wrang

Consider the following statements:

1. HBCs are formed in bone marrow, while BEC's are formed in liver & Spleen,
#, WBCz count is higher in females, whereas BBC count is higher in males.
Which of the above statements is fare correck

1A]

{B)

oz v 2 Arg coromoh
(D)  Both-1 and 3 sre wroang



85. Whichk of the following atstoments are correcty
X IndiE s e =iiteh largest SOUNCEY in The world :
N Ifdia L% the =aventch nafion To have: gons inca tuber “apace

3 Indinsocoiunts fop 204 DErcent of the werld surfaco gres
i. indl= houEss Lhs] percenat. of tha worid popirliEbs
Cades
Rl dEng
{E1 e 1 m KT
|Zh T and g
16} oSt &

3&. FWhich.of the following eounteies- has Aocuncsd itaelf o h-_é:mua tha worid'g first

@arbon. Aeutral country by 20207

AT Maldivas
By

i [
=l I

¥1. In the 59th Miss World finsl, Kaisne aldocine won the 2009 Miss

following countries?:
=% anuth Efriva

[4=1]

(BEH Tlbhrainar

98, & hugo magnituds B.8 earthquake struck Chile racently kl.lllinq at least 122

Feopie. The South American oountry i= the

Ay ®erldte fo.l Coposs Srodiicer
1Bl Werldl= Kool Tinm ofaducar

Moy Wos Mats Hoo X Topper Pradizoe
R Prerlci®s fe_ 5y ‘ErOanTer

oG9

DISEASR

T EAton  avsEEm

World coown
defasiting 111 contestants frem acrass the world. Zhe belangs o which of the
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Answers
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E,:!.'L'!
HES
(45
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e
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